Name: 5-a-day Foundation Plus

6th January *
Estimate the value of Corbettmoths
(6]
803 x 297 A | 3% | o . auao
A 06 0-6 b
0.613
= 4ooQ
Draw the locus of all points which are equidistant from points A and B.
A, B
Make tth i
ake tthe subject of the formula é oUW
v=u+ 10t Lo
- W = LL
V- . = lOb
Write 650000 in standard form Write 0.021 in standard form
g
é ¢ g )( ,0 ’ = &
2 X o
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Name:

5-a-day

Foundation Plus

7th January

What is the reciprocal of 4?

%

Corbettmotths

What is the reciprocal of 0.5?

A

1 1
13 X 33
%x%%§

o

Martin runs 2 kilometres in 2 minutes.

Calculate his average speed.
Give your answer in m/s

Qkﬁ‘ i L mns

ok o/

[ b [ i~
{000 m /M/}\/
B Calculate the size of angle BAC.
(1
5;\_, 54[/ s
0 13cm ﬁ i ﬁ
12cm ’ /Z
ﬁ/é & 5:/\ i ,/3—
& A . 0
< b7 3%
L ABC and LMN are congruent triangles.
A g9 Angle B = Angle N
M
155¢m - Write down the length of LM.
9.9cm s
7/ .
C otem B (? ‘?5 s
N
© Corbettmaths 2015 www.corbettmaths.com




Name: 5-a-day Foundation Plus
12th January *
Ff'enCh Gef‘man Corbettmctths
A student is selected at random.
Male 14 6 What is probability of the student studying
German? il
# [q_ e
Female | 12 8 hi: SR
4o 10

iy #11+6v8= ko

P

Calculate the area

(%M).«‘;L

Q(“[}Sémm

Work out 2a + b as a column vector

- Ecm - 7 g{cm
Findy @*+b°=¢"
= Y S¥HIT sy
5Cm - 25+ 1y “«y":]
b /ﬁ:yi
1zcm 7-; |3 em-
)(?zn:(gﬁte this table for the graph X I_.2 l 1 l 0 I 1 I 5 I
vtz [a]s]
2 b Z¢ [ Fiq
°:(-1) b:(s) a) &6

© Corbettmaths 2015
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Name: o-a-aay Foundaaton FIus

13th January Q

' h
Draw x < 2 on the number line. Corbettmaths
< O
A - | | (PR g TN A
N | i I I | 1T 1 —
5 4 -3 -2 A 0 1 2 3 4 5
Factorise x2 + 12x + 35 Factorise x2 - 10x + 25

(1+5)(1+2) ()2 5)

A bicycle wheel has diameter 80cm. L= 717 Xo0-8
The bicycle travels 50m. 5 4.6 3.

How many complete revolutions £o < 2:513-..09 = 19. 8 ‘1 o
does the wheel make?

w19 mry//é

f‘m/v}bw
-7 y cm A cube has side length y cm.
__________ 2em Lt The cylinder and cube has the same
: volume. 4 J,\__h
i I383. 3iz
i Findy 2.,
[1- 65T em

1G9 i

Solve the simultaneous equations

5x + 3y = 41
2x + 3y =20 5//"‘/
SRty Rt v

Az = Al
Do not use trial and improvement

4 #3910

© Corbettmaths 2015 www.corbettmaths.com




Name:

5-a-qay

Foundation FIius

19th January

y

T+
< ZT’L

A biased coin is flipped twice.

CorbettmQtths

Work out the probability of a tail and
a tail.

0f§x04 -0 bt

Work out the probability of at least
one tail.

oli+ 016+ o/
= 9

Solve x2-2x-15=0

(< 5) 2 )

Write down an inequality to show the
range of possible actual values.

A= S or Xz -3
Estimate 87.8 x 2.1 190 1gvo
0.199 0 d A
L Gox e 0
L _— ' ?00
o X
5.62 has been truncated to two decimal
places.
G5 8 n < 543

© Corbettmaths 2015
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Name:

5-a-oay

Founaation Flus

20th January

Corbettmaths

L

Construct the locus of points that are equidistant from A and B

400 Newtons on the floor.
The pressure on the table is
50 Newtons/m?2

Calculate the area of the container that
IS in contact with the table.

U
4 3 RAVERN T
1=+ 2- 505
5 4
izl
S
A container exerts a force of r

Factorise x2 + 8x + 16

(2+4)(x+ 4 )

Factorise x2 — 121

(v il ) (% -11)

© Corbettmaths 2015

.com




Name:

5-a-gay

Foundation Flus

26th January

o

The angles in a triangle are in the
ratio 1: 2: 9.

What is the size of each angle?

Corbettmoths

Is° 30", 135"

(+a+9 > iZ
(o =11 =15
Find the perimeter
- (ﬁx /’L_) = 14 449. -
6 8§49 + (7 -
------- é- -C-'-';;---- 30 . SSCA b Zi[
X Find an expression for the perimeter.
1zt
3x+3 a\iﬂ {&l o g
x+2
3x+1
u Vv W X Y
— 7
P/// Q// Fl/ / B S‘/ T//
K/ / L / M/ N/ o/
/ g

f // /
F/ G/ H/ J// —
5 // ; B
L/ > / ) / 1/ / AF =b
A 27 B K7 ¢ D E

Write a vector for AH in terms of a and

b
2a tb

Write a vector for DU in terms of a and b

- 3043y

© Corbettmaths 2015
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Name: o-a-aay Foundation FIus
27th January Q
Find the nth term Find the 50th term Corbettm0iths

Sn
3 & 9 g A% 150 9%
P iR o B s e R+ o

Expand and simplify

(y +2)(y +5)

yu 7?—% |0

Expand and simplify

(v - 52 (7*<)[7")
10y +25”
)

The speed limit on a road is 50 mph.
A car drives 20 miles in 25 minutes.
Is the car breaking the speed limit?

30 mv/ﬂo ..4\, 2( IH/\J
o /Mko o I/)V;u./h’/

Mo

—

80

70

Find the size of a, b and ¢
N ¢)
@80
b= 70"
_ o
¢ * 30

Work out five million multiplied by three
hundred thousand.

Give your answer in standard form.

.{I-OOOJOOO _)( 30()/000
* 1590000000000

18 1914

© Corbettmaths 2015




Name:

5-a-day

Foundaton FIus

2nd February

Solve 3x2 =192

1t =

2:F @ ¥

e

CorbettmQiths

Find the perimeter of the sector.

[h/;o T2l = §-d83. .-

§285- + 846

P Qg'ggcﬂb
8m
Solve these simultaneous equations 2. < - 2
3x-4y=18 xd y”.—-z
2x_5y=19 X5 dx--1r ~ 11 o £
by~ Gy 2 38 | z:u/‘)‘:/q s -3
/-?l - ZN:/ = 5-? Silir:‘./ Z;;i y

VAN
S 7 7

B is the midpoint of OG.
A is the midpoint of OE.

a=a and FB.zb

G
Express in terms of a and b, the vector

ocC 4+£

Express in terms of a and b, the vector

OF
o &

© Corbettmaths 2015
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Name: b-a-aay Foundation FIus
3rd February *
h
Work out _? ; i CorbettmOtths
/‘ .
: il
2
el £ 6 . % .
S 2 e - = oy
" (0 19 7 q/
Give your answer as a mixed number. 1 0
The angles in a triangle are in the ratio "
i-2cn HZ+9 2 (2 1549 =135

What is the size of the largest angle?

o= 115

Calculate the volume of the pyramid

L (Fx8) 15

Zkigo or 93.35,1.,7:,3

Expand and simplify

3y - 2)(y +3)

Yy

z

3(7 +77~5

There are 20 students in class 1.
There are 10 students in class 2.

Both classes sit the same test.

The mean mark in class 1 is 64%.
The mean mark in class 2 is 80%

Work out the overall mean for both
classes.

W XbY = 1287
| = oo
10 Cgo é,_\

2030

2080 +30 - §9.33 %

© Corbettmaths 2015
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Name: 5-a-aay Foundauon Flus

9th February *
Mrs Jenkins buys a car for £3400. Corbetimoiths
She sells it for £3800.

Work out her percentage profit. / , L 6 C/o

b

E 7 el

24cm € 4 |Findy. azfz““: £
/IY 72-+Z0L :‘24,7
5 ?,{_400 357(
Y< |3 dEESem

Use approximations to estimate the

value of
5077 = [2 . Jioo = 10
0.513 i
Clength, Lom | Frawey | A Work out the estimated mean
|_o<tst0 5 x| /0%
| t0<Ls20 /5 xuw s 2590 2 > =
| m<is 2 xa | 225 - 100 % 9
TTmese 35 r | 4
T w<isso 5 o | j124
R . W
oo 2590

Solve the simultaneous equations
4x + By = 25
X-y=4 x5

§1*57326

© Corbettmaths 2015 www.corbettmaths.com




Name: o-a-aay Founaation Fius
10th February Q
- Corbettm0tths
y | 'l }2 s 1 ¢ X
& 22cm / ; B .
Y c yt+ 269- A
17cm b y“ 2 15 [3-Qblco
- //bqé L(;/l\
Find y. Y
y
, ‘ 2 At
N\, | . { y ’ %
I . ’ || .
; | I | ff
f | 1
. - , 2 | ‘
17l b 6 S Zty® 3
L] i L L '
3 = ! { 3N\ 4 5 .
47 z/}r FEERCE 7L} o | L
B 56 0 3
ELENFERRER /

Drawx +y=3 anddraw y =x + 1.

Write down the coordinates of where the two graphs intersect.

(1,2)

Pli): 0k

The probability of landing on a 2 is 0.25
The probability of landing on a 4 is 0.15
The probability of landingon a 1 is
double the probability of a 3.

The spinner is spun 500 times.
Calculate the number of times you
would expect it to land on 3

0-Q X s00= 100

The pie chart shows information about the
languages studied in a school.

-| There are 648 students in the school.
Each student studies one language.

How many more students study Chinese

?
than French? RO‘? - 702

1 35

© Corbettmaths 2015
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Name: o-a-aay Foundation Flus

16th February

N

Solve the inequality 3x-11>16
1L 2d?
L74

Corbettmorths

A has coordinates (2, -7)
B has coordinates (6, 11)

Calculate the coordinates of M, the
midpoint of AB.

(¢ 2)

Write 5830000 in standard form.

Write sixteen million in standard
form. '
/1§ ¢ 0 doQ

(d x 107

This wheel has a circumference of
1 metre. What is the size of the radius?

,5 q !S-.)((,/‘l’\_,,

A drink is made from mixing orange
juice and lemonade in the ratio 1:4
5
Lemonade costs £0.80 per litre.
Orange juice costs £1.50 per litre.

Work out the cost of 2 litres of the drink.
1000 ’I' s = 40(_;/,1/

wwoml d OF 6.4 xf150

| 2 Zo-bg
loond of lemimpds I4 X Z. 90

*Ai-7%

© Corbettmaths 2015
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Name:

5-a-aay

Founadation Flus

17th February

o

Mollie has £250 in her bank account
to the nearest ten pounds.

What is the smallest amount she
could have?

PYVis

CorbettmOiths

What is the largest amount she
could have?

L1574 .99

(0,0)

i M) 1_471 N, RN WS SO SN S S_—

Enlarge the quadrilateral by scale factor % with centre of enlargement

In a sale, normal prices are reduced
by 25%.

The sale price of a calculator is

Calculate the normal price of the
calculator.

LIl H

[%= Q- 11'F{
Solve these simultaneous equations ; .

o 151 3y =2l
bx+2y=14 X° ; -7 )
3x-By=10 ** 4

. W=~ or-0F
301 +|oy = 70 g— "
b4 =jay > &
3 Qe X225 2 y=~0-
Séx > 40 - ' i
© Corbettmaths 2015
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Name: o-a-aay Foundation FIlus
23rd February *
Find x CorbettmQtths
FLG~ 595 -
& 4 pa— g
e
Solve the inequality 9x + 4 <5x — 14
frtd <~ 14
wx <~(8
X< =45
A rectangle has one side 3cm longer . :
than the other. Write an expression for 4 [ 1+ 3 j
the area. 2+3 )
| X o o
99 97 95 93 = :
~Sntios] -
100,95 , 90 , 85, ... ... - ;0 At 101
ioe 947 * -
Find the nth term o T Ja + loS
2 ,97 95 4¢3 or  jol-2dn
y J -~ +101 SR
=Y S (055
The ratio of the sizes of angles ina | Work out the size of each angle.
quadrilateral is 1:2:2:4-
(FLrité= q 4o, 807, 80", l40
3fe =4 = o°
© Corbettmaths 2015
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Name:

5-a-aay

Founaation FIlus

24th February

Calculate the circumference of this circle.
Give your answer in terms of 1t

CorbettmoOiths

Cuarxid
=T %14

6x - 3
5

X is an integer.
Find the possible solutions.

1< <9

S b3 45
< bx < &7

-3¢ % €8

2,3 ,4,5,8 7

The price of a TV in the sales is
reduced by 5% to £389.50.

What was the price of the TV before
the sales?

ds%: 279 .50
ie > 41

jocey ~ L& lo

" b . =

Work out the third angle in triangle A

21+ B¢ (135
/8a ~135 2 45

o

Which two triangles are congruent to
friangle A?

© Corbettmaths 2015
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Name: o-a-aay Foundaation Fius
2nd March ,
Factorise Factorise Corbettm0iths
y?-25 Y2+ 2y - 24

Cj '5)(3*3}

(Qj*éJ(j*”)

Find the HCF of 54 and 135
SG = TA3IXI RS
136 = J XY RIRT

Y (55

()

LASL G s dF

" Amount spent, m, (€) | Frequency | {3
0<«<mg<5 z-ff 4 )

——— ——

g 2 %

10«<m<15 2% 26 | 315
15<m<20 (#{v 8 14 g
S0 565

Calculate an estimate of the mean
ct8 =S &= II-3

Shown below is an interior angle from a regular polygon.

175°

Calculate the number of sides the polygon has.

yiois =z 7l S.a’@

Find the length of AC 7%, B
| 7 O
o
AC - fu~70 12cm
= (1(' ° 3 é ;Zé < a"
ch TN\,
Y A
© Corbettmaths 2015
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Name: 5-a-aay Founaation FIius

3rd March

Solve the simultaneous equations

2x +y =7
3x-y=8 adld
¢ =15

L= 3

Corbettmatths

Factorise x2-x-12

(qu) OL+3)

Write 5.2 x 104
as an ordinary number

0.0 00 SV

Find the nth term of
90 80 70 60 ... ..

— [Qa+ 100
0 (60 - 16p

Find the 100th term.
(00 - 10%100
(00 - 000

=-800

Solve:
3(4x -9)=2x+30
111 ,9\? < Zl+6u

[0L-3F = 30
[0X = SF

X:z§F

© Corbettmaths 2015
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Name:

5-a-0ay Foundation PIus

9th March

e

Construct the perpendicular bisector of AB

Corbettmotths

P

N

Factorise x2 + 4x + 3

i/

CX%Z)[}C

Y

‘H)

Factorise x2 - 3x + 2

(1-2)[x-1)

0.0065 x 10°

Write in standard form

(-5 x10°

Write in standard form

146.25 x 10710
-
(4625~ X |0

Below is an equilateraltriangle

/Lt: '0 ';

L": 7S
10 f=5S3
= ¥ bbeA

Calculate the area of the triangle.
Lexiox &4

43 D"

© Corbettmaths 2015
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Name:

H-a-day

Foundation Flus

10th March

o

In 2012 the number of golfers in a club
is 450.

In 2014 the number of golfers was
520.

Work out the percentage increase.

CorbettmQiths
7
/Of X100
36
= 15-5%

A\~

o Kl E
/B 16cm 17cm
s LY
A Becm ¢ D F
v\-_-’__?

Triangles ABC and DEF are similar.
AB =4cm AC =5cm
DE =16cm EF =17cm.

Work out the length of DF.
20 wn

Michael organises his books into
groups of 36. He then organises them
into groups of 30.

What is the smallest possible number

of books that Michael has.
B0:- 1X3 X9

Lem o 36 £ F0 =

Cg:)

P 2t x3X3 SX2¥L I xS = 70
1 3 73 3 2h- _ 10
fag* B To 10T Gy
) (3 u
2 7 % |07

Calculate the volume of the sphere.
Give your answer to 1 decimal place.

s "‘/jﬂfr3
3
= 2o XTX
| 7
= FA3F Zem

© Corbettmaths 2015
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5-a-0ay

Name:

Founaation Fius

16th March

o

$& q)
4 5
Front elevation Side elevation

CorbettmQiths

On the grid, draw the plan view.

Draw a sketc

the solid shape.

Factorise

x*-10x + 25

-5 )x-+)

3m

5m
12m

Solve the simultaneous equations

2X+4y =24 x5
Bx -5y=21 X¢
/%4 ‘20737?7’
: ) O fuj > /R0

© Corbettmaths 2015
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Name: o-a-gay Foungation FIlus

17th March *

Three angles in a pentagon are 110 Corbettm0iths
degrees each. g x ;o . 330 |Find the size of each angle.

| . 2+ 10+330 = 540
With the two other angles, one is 10 2x b3z Sko

(9]
degrees larger than the other. G SRD (00 )
¥ 1/1- [0 A:100 210

Make c the subject g (f i
Wi =

4 +C
W aE e il 3
Jur b2 (= 8w -4

Work out i Jr//

> 2 "5 3 s
g~ ¥ 7 b=

4 3 33,4 . F

7. e Tt

Solvex2+x-12=0

[1*#)@‘3)’0

f:'(/ ax 1;3

Work out the vector 4a + b

az(j) bz(g) [pg;ll): ]
Qﬁ'[’/é) -
-

© Corbettmaths 2015 www.corbettmaths.com




Name:

o-a-gay Foundation FIlus
23rd March *
A H Find BC. CorbettmoOtths
8.1cm ‘ A /{
- 1' 42° [05{4'2) )< g' /
B 1 p C

Construct the angle bisector.

A Find the size of the angle x.
Give reasons for your answer.
A ury es e ﬁ?w{
ol fima
Eé’ ) Efi (¢
. 67
Sfmy/ﬂ Ire /4/% ol 1 8/ i
Solve the simultaneous equations 9474 =1
3x+2y=1 X 3 Z“{ = 7,7': 10
2x+3y=9 vz i:l’:’/_g y:-;“
SRR
E53 Fe=T3 & 7 =5
© Corbettmaths 2015




Name: o-a-aay Foundatuon Flus

24th March *
!

Solve the inequality x is a whole number. Corbettmatths
5x<x+9 Write down the largest value of x that
TS Z)[ + 14 satisfies the inequality.

g = -
A
X 25
Write 4.3 x 10-” as an ordinary Write 940000 in standard form.
number.
S
- : q.4 % |0
000000 V&>
Make w the subject of the formula Qo —F
(/\/ = /
6a=3w+4a+7 3
4= 3w + ¥
A= ¥ DOw

Draw the locus of all points which are equidistant from lines CD and CE.

D

© Corbettmaths 2015 www.corbettmaths.com




Name:

5-a-day

Foundation Plus

30th March

'y

Expand 4y? (5y2 - 2a)

QOJQ"évZ

Corbettmotths

Solve x2 + 3x -

/%*Q (? “/) =)

y S &b o XF }
e TT— -—jm;emy 0 /1 Calculate an estimate of the mean height.

150 < h<1.55 6 q.15” ¥ 48 2
1.55 < h<1.60 10 ls. 241 | .
160 < h<1.65 24 34 qgoz“!d‘ [ 434
165<h<1.75 17 289
175<h<185 + 3 g ou]

& i s

X

Solve the simultaneous equations

y+1=2x

y=hx+2|
Zitdrdd
Z+3 =LY

={(¥,2/3,4.5,6,7, 89, 10,11, 128}
A={multiplesof4} & & /v
10

B ={factors of 20} ;, 71 & 5
Draw a Venn diagram for this information.

© Corbettmaths 2015




Name:

5-a-day

Foundation Plus

31st March

'y

¢ = 0.94 when truncated to two
decimal places.

Write an inequality to show the
interval in which the actual value of
c lies.

Corbettmaotths

0-sC< 0-95

I%XZ-;?-

DT
¥ 72

7

Work out the area of the green shape.

Slsx#3) - 3(2-4)

26 +15 = 31 4 IL

LAL f QF

Expand and simplify

X(8x + 3) - 2x(x - 5)
Frt+id -qx+ 102

bxt 1+ 134

A regular polygon has exterior angle
15°.

How many sides does it have?

Blg =I5

02 L/ 3 ,:/c%

© Corbettmaths 2015




Name: o-a-aay Founaation Flus

6th April Q

Find the perimeter L CorbettmOiths
i b= 19 4 v
‘{‘g[ﬁ\_é’ q: 44'1\ 3cm
4712+ +3

A biased dice is rolled 500 times.

S00%0-35 = |5
The probability of a 5 is 0.35.

How many 5’s are expected?

Simplify

4 x 4° - 47

%

Calculate the volume of the cone

]/3x1//><q1;<q
= i60,54m3

3.6 has been rounded to one decimal
place.

Write down an inequality to show the
range of possible actual values.

© Corbettmaths 2015 WWW,COr hs.co




Name: o-a-aay

Foungaaton Flus

7th April

Expand and simplify
(w+4)(w+9)

W'+ g+t 5

Corbettmaotths

N (304 3

N

¢ = 250 when rounded to the
nearest ten.

Write an inequality to show the
interval in which the actual value for
c lies.

Ak SC <95

B Find the size of angle ABC.
N "
e F a—

Al 13em (OJ 2 3

12cm
¢= da bl
C . A
0

Matthew is training for a race. L 1 !
He runs 3 days in one week. I % + 4 5 t 2{

YOO
() ()

Matthew runs 1% miles on Monday. ,}1 * % x: l’/ = ‘fi 4 50 ﬂ
Then he runs 1% miles on Thursday. 2 90 = + 3
Finally he runs 2/ miles on Sunday. N
= i
Work out how far Matthew ran in total. 20 - 5./&)
Work out 3a + 3b

© Corbettmaths 2015
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Name: o-a-aay Founaation Fius
13th April *
Factorise Factorise Corbettmatths
X2 +3x - 10 2 -3x -4

(-wS)(i-aj

(Y +f)(ﬂf4‘)

Write the inequality shown

182 N3

\

<

A 50cm B
Shown above is a prism that is 1m long.

ABCDE is the cross-section of the
prism.

ABCE is a rectangle and CDE is a semi-
circle.

=3
Sketch y = x® Sketch ” _ * where x #0
4(7x15%) Calculate the volume of the prism.
D/ Give your answer correct to 1 decimal
; place.
I RARA
e C 72481 - 7¢.x loo
150 0cp |30cm
m

0243/74-576/"3

© Corbettmaths 2015
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Name: o-a-aay

Foundaton FIius

14th April

Solve the simultaneous equations

3x+y=19 ¥ 3 41*3‘/"57

Corbettmaths

ox +3y =8 2> 8
| -
5] =49

Lz Z

Solve

3<2x+1<19

1< L </§

(<2 <9

What is the mass of an object which
has a volume of 120cm® and a density
of 6g/cm*?

/N E /H/“
2 % o :7o?0f

Aramp is 2.1m long and 20cm high.

Calculate the size of angle y.

Y t o b ¢ 2
//J . /" e
21m A ' y: §’44‘a
21 0em
Solve the simultaneous equations fes L B, 2 6%
| X ~y s 105
Bx + Ty =52 X7 Z?,;/:M
2x-3y=15 x% - ¢
/3*3/ *)5 y:/

© Corbettmaths 2015
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Name: o-a-aay Foungaatuon Flus

20th April *

Annie, Beth and Carly go shopping. Corbettmatths
Annie spend m pounds. M Write down, in terms of m, an inequality
Beth spend twice as much as Annie!”" | to show this information.
Carly spend 5 pounds more than Annie.

M+5 U 16 7 60

The total amount of money spent, in
pounds, is more than £60.

Work out (4.5 x 107) = (5 x 10-2?)
Give your answer in standard form.

0.9 x 10"

QMOK

The distance from Junction 19 to / ¢ﬂ7
Junction 20 on a motorway is 14 miles. “ A3 . X
Bethany drove the distance in 15 g :

s Cb/ mley n 30 puns
minutes.

Max drove the distance at a speed of 56 ko in ( hoor

52mph. flap
Who was faster? [Z;/A/wy - /,,;,-[7 /4,/,',/,

pll 13 x 13 = iy

God: Lxmxst : 39.17a"

5m
N Work out the percentage of the field the
goat can reach.
12m 34.27
. s . . ¥ |00
A goat is in a square field which has '7:;
length 12m. &
The goat is tied to the middle of a 12m (Q ;‘ LA /°

fence on one side with a 5m rope.

© Corbettmaths 2015 www.corbettmaths.com




e b-a-aay Founadation PIus
21st April *
Find the volume Corbettmotths
4o 0xb> ¢ | TAAL
écm =g x Shx F
= 12

The time, T, taken to serve the
guests at a wedding is inversely
proportional to the number of
waiters, w.

200
/

p—

5

2 = 40 mos

The time is calculated by
300
- W

Work out how long it would serve
the guests if there were 15 waiters.

Calculate how long it would take to serve
the guests if there were 6 waiters.

200 _

e Y TR 5(/ /VM/‘J

b

Work out the difference in the time taken
to serve the guests if there were 6 waiters
or if there were 20 waiters.

[ww'/izﬁ S0 s

20 puters = 15 mins

50- |

t)/ = Zg—ﬂ/"l}'v)'.

Sally bought a piano for £2200.
In each year the value of the piano

increases by 11% of its value at the start
of that year.

7700 % (1|7 A 4kt
720¢ x (-] % Bo0¥ Ao
2tos x (WY 33% 7

Calculate after how many complete

years the value of the piano will be at
least £3200.

4 i

Solve these simultaneous equations

8x + 7y =39
Bx +2y =34

5u£

57;4+{,l: 3y
fe = 31
Ze G

L Z=l
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Name: o-a-aay Foundatuon Fius
27th April *
The equation . Corbettmaotths

- L 43 G
24+3x = .

- bs sy ho gl
has a solution between 4 and 5. 4.4 Sl-qz foo kgL
Find this solution to 1 decimal place. '

[(") l'tqgf too 'va
y3¢  50.845 foo hjk
Write 237.5% as a fraction. (0-3? 43y
Give your answer in its simplest /
form. W T P
23t 1
Tow g
|
3
Every weekday, Raymond runs 2% 24 X § 4% » &
miles. 5 e W . 1
On a Saturday and a Sunday, he runs “z* ér ¥ e =3 Y= z
4% miles.
A5 28
How far does Raymond run over the =g To5
course of 1 week?
e 2 8L 5
4 6 ¢ b
/’ffi) The two triangles are mathematically
35cm X similar.
Find x
16cm
20cm _____— L& em

xo0 ¥
Calculate the density of a piece of 0[ LB L 0. l / 3
wood with a mass of 21g and a v 35 j =
volume of 35cm3
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Name: 5-a-qay Founadation Flus
28th April Q
Factorise Factorise CorbettmaOiths
X2+ 2x - 8 =144

()LM)(X-l)

(u)—fl)(:jHlJ

Find the least common multiple (LCM)
of 36 and 54.

2+ It x3%3
S = TX3IXI KD

3 5U

(Cm > 72 3x3¥1X3

< 10§

Solve the simultaneous equations

5x-y=17 X 3
2x+3y=0 s
/‘;-1/~3]: [

2x +57> O

[FX = 5]
X=3

/S - :l?
g:/—l

x=3
"

The Great Pyramid of Giza is a
square based pyramid.

The base has a side length of 440
cubits. A4 = 4o x ko= [q 3400
The height of the pyramid is 280

Calculate the volume of the Great

Pyramid of Giza.
A

/e x 3400 X 40

cubits. = 18069333.33 cubb?
Calculate the perimeter.
)
10cm 0813 < ETE R0
"9'>(77'>< Zo = (4813~
0410 +(4813.. = M-ABem
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